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1.What IT governance implementation approach should be utilized in order to achieve maximum 
enterprise benefits? 
A. Separating business and IT-related activities during implementation 
B. Including improvement initiatives in implementation 
C. Treating implementation as a program 
Answer: C 
 
2.Which of the following is an example of a focus area within COBIT? 
A. Robotic process automation 
B. Internet of Things 
C. Digital transformation 
Answer: C 
Explanation: 
Reference: https://community.mis.temple.edu/mis5203sec001sp2019/files/2019/01/COBIT-2019-
Framework-Introduction-and-Methodology_res_eng_1118.pdf page 22 
 
3.Once IT governance is implemented, what is the NEXT phase in the life cycle of governance? 
A. Measuring objectives 
B. Initiating improvements 
C. Updating the program 
Answer: A 
Explanation: 
Reference: https://cio-wiki.org/wiki/IT_Governance 
 
4.When assessing organizational structures, it is MOST helpful when subcriteria for each criterion are 
defined and linked to: 
A. job descriptions. 
B. capability levels. 
C. performance metrics. 
Answer: B 
Explanation: 
Reference: https://community.mis.temple.edu/mis5203sec001sp2019/files/2019/01/COBIT-2019-
Framework- Introduction-and-Methodology_res_eng_1118.pdf (41) 
 
5.Which element of a business case BEST enables senior leadership to assess the future success of the 
IT governance program? 
A. Quantified benefits 
B. Qualitative perspective 
C. Investment justification 
Answer: C 
 
 


